0 ¢) (rad)
S

a(d cot(d))

1072

T IIIIIIII T IIIIIIII
. =
<
> ———
—<§— .

o —_—
—s :
— .
———a—

1073

105

Ratio

b

TTTI[TTTT[TTTY
ey

W[TTTT T

2 -1 0 1 2 3 %372 1 o0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

MKFIT_TTbase

—=— DOQM_]
—e— DQM_mKFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT _Dbaseline_6iter

—— DOQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

z

oo a,) (cm)

=
<
[

SICEWATL

107

jiTdd

A R I A 103.....

Ratio
=
NS
Now

=k
[N}
TTTT T T T

0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
w
N = H PN H
|
N

0P /P,

H
S
o

12 3
TP n (PCA to beamline)

N eaassnans
N L
I
iR
o



	Contents
	Page 1


